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EDUCATION

Paper 11

’

Time Allowed : 2 Hours] | [Maximum Marks : 200

Note :— This question paper contains one hundred (100) multiple choice questions.

Each question carries two (2) marks. Attempt all questions.
1 The “equal opportunities for all children in India” means :
(A) Equal opportunities for all children to have access to higher education
(B) Eqﬁélity of educational opportunities for eaph child
(C) Equal opportunities to have the type of education for which c:)ne is suited
(D) Equality of the type of education available for each child -

2, Which of the following is not one of the doctrines of Panchsheel as enunciated
in Buddhism under the theory of Samyak Karma (Right action) ?

(A) Ahimsa (Non-violence) (B) Satya (Truth)
(C) Asteya (Non-stealing) (D) Aparigrah (Non-hoarding)

3. The agency which plays the most significant role in the transition of the

individual to a ‘person’ is the :

(A) School | (B) Family
(C) Community (D) Religion
4. According to Vedic literature, there were three major ‘Pramanas’ (Means of

obtaining valid knowledge). Which of the following is not one of the major

Pramanas ?
(A) Pratyaksha (Direct perception) (B) Anuman (Inference)

(C) Upaman (Comparison) (D) Shabda (Authority)
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5. Which of the following schools of Indian philosophy institutionalized

education for the first time ?

(A) Jainism (B) Samkhya-Yoga
(C) Buddhism (D) Uttar Mimansa
6. “Any statement or a proposition will be meaningless, if it is not directly or

indirectly verifiable.” This proposition tends to describe the essence of which

of the following schools of thought ?

(A) Naturalism (B) Logical positivism
(C) Existentialism (D) Realism
y Which of the following assumptions about human nature is a logical

prerequisite for edu-cating a child ?
(A) Human nature is essentially good
(B) Human mind is like Tabula Rasa (a clean state)

(C) Every child exemplifies a divine pattern of development, and the purpose

of education is for the child to realize it
(D) Human nafure is, to some éxtent, modifiable
8. Which of the following statements does not relate to empirical truth ?

(A) The electric current flowing through a conductor is proportional to the

difference of electric pressures between the two ends

(B) The sum of the three interior angles of a triangle is always equal to

180°
(C) The milk contains bacteria
(D) India got freedom from British rule on 15th Aug., 1947
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9. “Most learning behaviour is learned through modeling of others behaviour

via observation.” Which of the following thinkers held this view ?
(A) Lev Vygotsky - (B) Albert Bandura
(C) Jean Piaget (D) John Dewey

10. When one pursues a year of French, then a year of German, and finds that

his knowledge of German interferes with his recall of French, we call that

interference :
(A) Associative inhibition (B) Retroactive inhibition
(C) Associative interference (D) Experimental extinction

11.  Value conflicts in the minds of school children are often created by :
(A) Mal-adjusted teachers
(B) Unruly students
(C) Conflicting value systems of the home and the school
(D) Conflicting laws of the country
12. The most valid situation of good classroom discipline is :
(A) Absence of Noise and Disorder
(B) The degree to which students master course content and skills
(C) Students conformity to rules and directions

(D) The extent to which students accepts responsibility for self-difection
T.B.C. : 22/18/SET—II 6
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13. The stage of apparent inactivity in creative thinking process is generally

known as :
(A) Incubation (B) Verification
(C) Generalization (D) Ilumination

14.  Challenges of Teacher Education may not include :
(A) Lacking uniformity in several types of teacher education institution
(B) Unhealthy financial condition of the colleges of education:
(C) Cultural diversity and incompetent teacher education
(D) Lacking feedback mechanism

-15. Which one of the following criticisms on craft education do you feel

incorrect ?

(A) Crafts tends to become forced child labour

(B) Emphasis bn craft is likely to neglect academic work
(C) Introduction of craft means putting the clock back

(D) It is denying the child care free childhood and obstructs development

of his natural faculties

16.  In the context of Flander’s interaction analysis system, which of the following

is not a part of ‘Teacher Talk’ ?

(A) Motivating students

(B) Accepting feelings

(C) Praising and encouraging students

(D) Asking questions
T.B.C. : 22/18/SET—II 8
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17. What is meant by Simulated Teaching ?

(A) It is a role play in order to learn something new

(B) It is used to practice a particular skill

(C) Simulation are models of real things in real situation

(D) It is new technique of teaching in actual classroom situation
18.  Yashpal Comﬁittee Report (1993) is titled :

(A) ICT 'in teacher education (B) Learning without burden

©) Léarning through broadcasting (D) Learning through ICT

19. Establishment of DIETS across the country as a major development in Teacher

Education was made on the recommendations of :
(4) RTE 2009 (B) NCFTE. 2009
(C) NPE 1986 (D) Yashpal Committee
20. As to the question of values :
(A) The realist and the idealist obtain their values from man’s experiences

(B) The pragmatist and the idealist derive their values from sources outside

of man

(C) The idealist and the naturalist both obtain their values from intuition

and reason

(D) The pragmatist and the realist reject supernaturalism as a satisfactory

source of values

T.B.C. : 22/18/SET—II 10
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21.

22.

23.

24.

Of the following, who popularised the concept of emotional intelligence ?

(A)
©)

Daniel Goleman (B) Vygotsky

Payne ; (D) Reuven Baron

Which of the following is not true about a traditional classroom and a

constructive classroom ?

(A)

(B)

(®)

(D)

In the former, learning is based on repetition but in the latter, learning

is interactive

In the former, the curriculum begins with parts of the whole, but in
the latter curriculum begins with the whole and extending to include
the parts

Teacher’s role in the former is directive, rooted in authority but in the

latter teacher’s role is rooted in negotiation

In the former, students work primarily in groups but in the latter students

work primarily alone

The factor most responsible for prevalence of Juvenile délinquency is :

(A)
(B)
(®)
(D)

Failure of individual to satisfy his basic needs in acceptable ways
Ineffective character training in the home and school
Inadequacy in law enforcement

Bad examples set by society

Problem solving differs from creative thinking in that :

(A)
(B)
(&)
(D)

Creative thinking is original and independent of past experiences
Creactivity is spontaneous and instantaneous
Problem solving involves trial and error

The solution in creative thinking is more novel and less defined by the

problem
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25. The names of McClelland, Atkinson and Lovell are associated with :
(A) Social Motives (B) Need achievement
(C) Reward expectancy (D) Level of aspiration

26.  As per the structure of Intellect model (J.P. Guilford 1988) decision-making

skills (Evaluation Operations) can be subdivided into ..............c.cvve...... distinct
abilities.

(A) 24 | B) 30

(C) 25 (D) 36

27.  The feelings of inferiority are symptomatic a discrepency Bgtween one’s :
(A) Competence and level of aspirations
(B) Persohal adequacy and self-concept
(©) Sel_f—concept and his self-ideal
(D) Self-concept and the opiﬁion of others
28. The most common “model” a child selects is :
(A) His p'arehts, a teacher or a person in authority
(B) A person whose conduct approaches perfection
(C) A person who approximates the child’s self-ideal
(D) A person who provides him with the greatest need-satisfaction

29. The first three modern universities in India were established‘on the basis

of recommendation given by :
(A) Macaulay’s Minute (B) Wood’s Education Dispatch

(C) Indian Education Commission (D) Lord Hardinge’s Resolution

T.B.C. : 22/18/SET—II 14
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30. 10+2+3 pattern of school and college education was first recommended

by :

(A) Hunter Commission

(C) Radhakrishnan Commission

(B) Sadler Commission

(D) Kothari Commission

31. Which of the following is not the function of UGC ?

(A) Promoting and coordinating university education

(B) Determining and maintaining standards of teaching examination and

research

(C) Achieving planﬂed and coordinated development of teacher education

(D) Disbursing grants to universities and colleges in the country

32. Compare the List-1 and List-2 given below and give your answer from the

codes given below the list :

Lis_t-l

(@) Hunter -Commission
(b) Sadler Commission

(¢) Hartog Committee

(d) Sargent Scheme

Codes :
@  ®)
(A) @@  Go)
B) @ @)
C© @) G
D) @) G
T.B.C. : 22/18/SET—II
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33. Which one of the followingAis not a principle of NCF-2005 ?
(A) Connecting daily life with curriculum
(B) Away from r(;te memory
(C) Flexible examination system
(D) Craft-centred education

34. Networking of libraries through electronic media is known as :
(A) INFLIBNET (B) LIBINFNET
(C) INTERNET (D) HTML

35. What‘ does the acronym ADDIE stand for ? |
(A) Analysis, Design, Develop, Implementation and Evaluati;)n
(B) Analysis;, Design, Delivery, Imagine, Evaluate
(®) Acquir‘é, Design, Deliver, Implementation, Evaluation
(D) Anélyze, Deliver, Design, Imagine; Examine

36. Creating content is part of which phase of instructional design :
(A) Design - (B) Development
(C) Implementation (D) Analysis

37. The recommendation of establishing teaching universities in India was first

made by :

(A) Indian Universities Commission (1902)
(B) Calcutta University Commission (1919)
(C) University Education Commission (1948)

(D) University Grants Commission (1953)
T.B.C. : 22/18/SET—II 18
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38. Which of the following Indian states was the first to set up an open

university ?
(A) Andhra Pradesh (B) Himachal Pradesh
(C) Arunachal Pradesh (D) Uttar Pradesh
39. The name of the first chairman of the UGC was :
(A) Manmohan Singh (B) Hari .Pr,akash Gautam
(C) Dheerendra Pal Singh (D) S.S. Bhatnagar
40. Wh'ich- of the following is not correct about the role of teacher ?
The teacher acts as a :
(A) Mediator between learning and students

(B) Facilitator of knowledge rather than provider of instruction

(C) Authority, responsible for development of knowledge, values, skills and

attitude .
(D) Manager of in-struction
41. Transfer of Training relies most heavily upon :
(A) Intellectual status of the learner
(B) The method of presc;ntation
(C) The nature of material

(D) Meaningfulness and generalisation of experiences

T.B.C. : 22/18/SET—II 20



38.

39.

40.

41.

frefafed W T § @ B T 7 SR TR g (9R) favafeeed @

TG H 2

W wwwm ®) forem R

(C) 3RU=d Y (D) IW WV

fovafqaem STEM SN & 9o Tgd Y w1 TH Aq

(A) W e (B) & weml T

(C) = o fiie (D) THTH. WETR
freffe § ¥ s @ YT & IR § R 9 T ¢ ?

s frefafed &9 # & 6w €

(A) w@‘afwmasaﬁww

(B) T I FHIH T fF I F W

(C) T, g, BN @ g & fawm & fo ser sifverd
D) f¥A waEh
wmmmﬁammww@ﬁﬁﬁm%?
(A) e &t difesw feafqd ®

(B) W &t fafy W

(C) fowa-sgg =t ¥Hfd W

(D) JvEl H FIURT A FEERT R

TB.C. : 22/18/SET—II 21 PT.O.



42.

43.

45.

46.

Cooperative Teaching involves :

(A) Teachers share their abilities for talented students

(B) Commitment for planning and administration support

(C) Involving all disabled learners in classroom activities

(D) Team teachihg by teachers

Prime objective of inclusive education is to :

(A) Shal;e burden of a special need child with non-disabled

(B) Share burden of a special educator with general teacher

(C) Enable disabled to learn to live independently

(D) Aknowledge the rights of disabled by providing equality of opportunities
Who is the exponent of experience centered curriculum " |

(A) Froebel (B) John Dewey

(C) Stevenson (D) Parker

Making value judgement about curriculum :

(A) Curriculum Design (B) Curriculum Evaluation

(C) Curriculum Development (D) Curriculum Eléments

Name the institution which is responsible for curriculum at school level :
(A) NCERT (B) NCTE

(C) CBSE (D) NAAC
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43.

44.

45.

46.

et e w1 o ® -

(A) Tres oot gwael = wfqumene foenfEl & @y @@
(B) mﬁaﬂww%mﬁéﬁﬂmaﬁfmuﬁm
(©) wsft s faenfRi ® wen wwEf § fwfm s
(D) foewi g Wy foam

TEEET fen w1 qeE w1 ¥ e

(A) Tw fem s & 9 9 SeE o WY siedl

(B) qwﬁﬁwﬁwwaﬂaﬁammw%maaﬁm

(C) T% fesaim el ol SMAMHR Sed =Fdid % & fau TR &

(D) THM EW Y Hieh feeam =fe & ifuerl sl AR <A
T s eI W e Fetted § § @ ¥ 2

(A) i (B) 7 It

(C) wiawA (D) TR

e # e e Fofa g 2

(A) wEE=E gEd (B) Wil e

() ugEEdl fawm | (D) = &

foemert WX W weEEd @ defua deen freftem @ @ ¥ 2
| (A) THIAE. | (B) WAL

(C) WETH3I. (D) TA.T.THE.
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47.  Which one of the following is not the psychological principle of

teaching ?<
(A) Proceed from simple to complex
(B) Proceed from cor;crete to abstract
(C) Proceed from known to unknown
(D) Proceed from complex to simple
48. NCFTE 2009 was given by :
| (A) UGC | (B) NAAC
(C) NCERT (D) NCTE
49. We move from specific to general in :
(A) Inductive method (B) Deductive method
(C) Drill method (D) Discussion method
50. Summative evaluation implies :
(A) Use of daily quizzes
(B) Monitoring of learning through homework
(C) Terminal tests
(D) Weekly assessment of students to improve learning
51. An électronic portfolio is :
(A) Used by the school system to speak to teachers
(B) A type of graphics programme used by art students
(C) Not useful to teachers at all |

(D) A tool used by teachers to assess students
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48.

49.

50.
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52. What type of programme allows students to experiment with dangerous

chemicals without real danger ?
(A) Problem solving , (B) Drill and practice
(C) Simulatation (D) Tutorial
53. The constructivists believe that learning occurs when the learner :
(A) Manages his. or her own knowledge
(B) Uses drill and practice software
(C) Passes a multiple choice test with 75 percent accuracy
(b) Passes a test with 100 percent accuracy
54.  What is distance education ?

(A) Planned learning that typically occurs in a geographical location

different from the source of the instruction
(B) When the teacher posts his/her lecture notes on the internet
(C) When a teacher uses closed circuit television to deliver instruction

(D) When a teacher uses the e-mail or the class website to prepare instruction

for the student
55. The constructivist approach utilizes :
(A) Technology alone for all learning experiences
(B) Technology to explore various topics
(C) Technology to assist teacher led instruction

| (D) Technology to engage students in discussion of class outlines
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56. The concept of ‘null hypothesis’ in research was first given by :
(A) Best J.W. (B) Fisher R.A.
(C) Guilford J.P. ' (D) Thorndike E.L.

57. .While designing an experimental study, the process of randomization is said

to have been achieved, if :

(A) Subjects are randomly a.ssigned to groups
(B) Treatments are randomly assigned to groups
© _Eithér (A) or (B) has been done

(D) Both (A) and (B) have been done

58. A research design structured to analyze the independent and joint effects of

two or more independent variables on a dependent variable, is known as :
(A) Factorial design (B) Matched-groups design
(C) Causal coinparative design (D) Experimental design

59. An immediate solution to a problem of an institution which cannot wait for

theoretical solution, is given by :
(A) Act'ion Research (B) Sample Survey
(C) Field Experiment (D) Ex post facto Study

60. The method of ‘direct observation’ of a phenomenon in order to arrive at

meaningful conclusion was first suggested by :
(A) Charles Spearman (B) Francis Becon

(C) Karl Pearson (D) Francis Galton
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60.
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61.

62.

63.

64.

65.

The probability of occurrence of a statistical result by chance and not by actual

relationship, is known as :
(A) Degree of freedom (B) Sampling error
(C) Level of significance (D) Region of rejection

National Institute for the Empowerment of Persons with Multiple Disabilities

is located in :
(A) Delhi | (B) Mumbai
{67 Chennsi | D) Kolkata

Which one of the following disabilities is not included in Rights of Persons
with Disability Act ?

(A) Learning Disability (B) Epilepsy
(C) Mental illness (D) Dwarfism

Teaching Braille to visually impaired children comes under the

category of :
(A) Extra curricﬁlum - (B) Co-curriculum
(C) Plus curriculum . (D) Core curriculum

An investigator prepared a factorial design for comparing male and female
students on language ability in relation to rural-urban location and material
status (married-unmarried). The total number of hypotheses tested by him

1S :
(A) 3 (B) 5

<€ 7 M 9
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66. When non-disabled children go to special education classroom to interact, learn

and playing with disabled children, it is called :
(A) Mainstreamir;g ' (B) Integration
(C) Reverse integration (D) Inclusjon
67. The chief responsibility of the Principal is to :
(A) Listen to parental criticism
(B) Organize and administer the guidance programme
(C) Provide leadership in instructional programme
(D) Handle (iiscipline problems
68. A researcher commits Type II error when he :
(A) Acce'pts" null hypothesis when it is false
(B) Reje;:ts null hypothesis when it is true
(C) Accepts null hypqthesis when it is true
(D) Rejects null h&pothesis when it is false‘
69. Which of the following is not true about quality assurance ?
(A) Its aim is to identify defects in the product
(B) It is a technique of ‘managing quality of the product

(C) Its focus is on prevention of the defects

(D) It is a process to create the deliverables
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70.

71,

72

73.

74.

Which of the following is not an approach to leadership according to Keith

Grint ?
(A) Leadership as-a person (B) Leadership as a process
(C) Leadership as a product (D) Leadership as a position

Supervision and school administration should primarily be :

(A) Preventive and critical (B) Constructive and corrective

(C) Constructive and critical (D) Critical and corrective

The besj: .evidence of the effectiveness of supervision is :

(A) The extent to which the teacher becomes progressively more self-sufficient
(B) The extent to which the supervisor is able to solve teacher’s problem
(C) The ease With which the supervisor can diagnose and remedy situations
(D) The e#tent to which the teacher knows what she/he should be doing

Which of the following acronyms is a fundamental assessment model of an

organization ?
(A) POSDCORP (B) SWOT
(C) PERT D) CPM

..................... differentiate leaders from non-leaders by focusing on personal

qualities and characteristics.
(A) Behavioural theories (B) Trait theories

(C) Contingency theories (D) None of these
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75.

76.

A bs

78.

19

Which of the follbwing is not true about styles of leadership ?
(A) Autocratic style (B) Democratic style
(C) Aristocratic style (D) Laissez-faire style

Which of the following terms indicates a characteristic feature of qualitative

research ?
(A) Confirmation (B) Explanation
(C) Exploration (D) Prediction

An observable characteristic which differs from individual to individual is

termed as
(A) Evaluation (B) Hypothesis
(C) Measurement (D) Variable

Which of the following is not correct concerning the difference between

Andragogy and Pedagogy ?

(A) Adults tend to be more self-directed than yoﬁnger children

(B) Adult learners are more internally motivated than children

(C) Adult learners are quicker in learning and less rigid than children

(D) Adults have growing reservoir of experience, which acts as an increasing

source of learning

A scheme for assessment of answers to an essay question that specifies marks

for various aspects of the answer is known as a scoring :
(A) Key ~(B) Plan

(C) Rubric (D) Guide
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80.

81.

82.

83.

84.

Which of the following concepts is non-statistical in nature ?
(A) Content validity (B) Concurrent validity
(C) Criterion validity (D) Construct validity

Which of the following techniques may be used for analysis of data obtained

on a nominal scale ?

(A) Student’s ¢-test | (B) Spearman’s rank correlation
(C) Chi-square test (D) Analysis of variance

The prim.ary objective of formative evaluation is to :

(A) Iﬁform students of their progress in learning

(B) Assign grades to indicate performance level

(C) Provide f_eédback of facilitating learning

D) Advige 1éarners to study mere in some areas

A testing program meant for assigning the students to various streams of

learning is known as :
(A) Selection test - (B) Summative evaluation
(C) Placement asséssment (D) Diagnostic assessment

A 100 items objective test has a reliability coefficient of .60. If the number
of items in the test is reduced to half, the new reliability coefficient would

be :
A) .30 (B) .28

C) .26 (D) .23
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85.

86.

87.

88.

89.

During a selection process of army jawans, all candidates whose height was

below 170 centimeters were rejected. The recruitment team is following :
(A) Formative assessment process (B) Criterion referenced assessment

(C) Norm-referenced assessment (D) Summative evaluation process

A 40-items test has a reliability coefficient of .37. How many more items should

be added to the test for achieving a reliability coefficient of .74 ?
(A) 50 A (B) 60
© 70 D) 80

A sampling technique which ensures proportional representation of all iden-

tifiable sections of a population is called :
(A) Convenient sampling (B) Snow-ball sampling
(C) Stratified sampling - (D) Systematic sampling

A research scholar conducts a study on the cultural traditions of a tribal group

living over a hilly track. This study would be classified as :
(A) Survey study ) (B) Census study
(C) Phenomenology (D) Ethnography

If a distribution of scores is negatively skewed, the mean, median and mode

are related as :

- (A) Mean > median > mode (B) Mode < median < mean

(C) Mode > mean > median (D) Mean < median < mode
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90.  Compare the List-1 and List-2 and give your answer from the codes given

below the list :
List-1 : List-2
(@) NCF @ 1992
(6) Acharya Ram Murthi Committee (i7) 1983
(¢) National Commission on Teachers (iii) 1990
(d) NCFTE (w) 2005
| @) 2009
4 Codes :
(a) () (c) (d) |
(A) (@) () | @) @)
® @ G 6O o
€ @) @) D) )
D) @ @) @) ()
91. The most affecting barrier for achieving total inclusion of children with
disabilities in an inclﬁsive school is :
(A) Infrastructure (B) Attitude
(C) Teaching-learning material (D) Assistive technologies

92.  For ensuring full inclusion of a child with special need, major responsibility
of the disabled is on :

(A) Special Teacher (B) Parents

(C) General Teacher (D) Counsellor
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93.

9.

95.

96.

With regard to the concepts “Teacher Training” and “Teacher Education”,

which of the following statements is not correct ?

’

(A) Both these concepts, in the final analysis mean the same thing—production

of efficient teacher or a competent teacher

(B) Teacher training is basically of an apprentice in nature, having two

principles—acceptance of goals and practices as given

(C) Teacher education as distinct from teacher training is a journey from

blind, uncritical adoption to reasoned practices

(D) In teacher training development of skills for effective teaching are aimed

at, whereas in teacher education, teacher competence is the goal
Which of the following is not an essential feature of Modernization ?
(A) Social stability | (B) Urbanization
(C) Enculturation (D) Globalization’
Group structures are measured most commonly by the :
(A) Sociogram ‘ (B) Group rating scale
(C) Socio-drama ‘“ D) Beha;'iourgram‘
Schools are social institutions because they :
(A) Are established by the society
(B) Suggest solutions to social problems
(C) Suggest ways and means of social program

(D) " Preserve and instill future generations the knowledge of customs of our

culture
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9%,

98.

99.

100.

The application of the principles of Sociology to education is referred to as :
(A) Educational Sociology' (B) Sociology of education

(C) Social Science of education (D) Social foundation of education
A basic ideal of a democratic society is :

(A) Powerful leadership

(B) Belief in the opinion of others

(C) Respect for the enlightened individuals

(D) Obedient followership

Which of the following is the most characteriste feature of the moral philosophy

of Islam ?
(A) Sabr (B) Shukr
(C) Tagwa . = (D) Adl

A variable that influences the outcome of an experiment but is not directly

observable, is known as :
(A) Attribute variable (B) Confounding variable

(C) Moderator variable (D) Suppressor variable
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